


k - 1 k2 + k 2(k + 2) 2k + 2 1 - k





k – 1 = 0

1 – k = 0
k2 + k = 2 2k + 2 = 4 2(k + 2) = 6





k – 1 = -2
1 – k = 2k2 + k = 0

2k + 2 = 0 2(k + 2) = 2





k – 1 = 91 – k = -9 k2 + k = 1102k + 2 = 22 2(k + 2) = 24





k – 1 = -½ 1 – k = ½ k2 + k = ¾ 2k + 2 = 3 2(k + 2) = 5





k – 1 = -1 1 – k = 1k2 + k = 0 2k + 2 = 2 2(k + 2) = 4





k – 1 = -4 
1 – k = 4 k2 + k = 6 

2k + 2 = -4
2(k + 2) = -2





k – 1 = -1½  1 – k = 1½  k2 + k = -¼  2k + 2 = 1 2(k + 2) = 3



• Are there any values for k which will make the expressions on the 
red and yellow cards equal?

• Can you find a value for k which will make the expression 2(k + 2) 
(on the red card) have the smallest value?

• What values for k will make the expression k2 + k negative?

k - 1 k2 + k 2(k + 2) 2k + 2 1 - k


